1. For each of the following problems, give a siep by siep scheme shiowing how you would
accomplish each synthetic transformation. You may use any sources of carbon that you
wish, but veu must use propane in each synthesis. You must show all reagents and
intermediates. (7 pis cach)
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SYNTHESIS CONTINUED
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5. Do not show minor

products in each of the following reaction

Show the majer product of
ercochemistry. (4 pte gach;

products. Be sure t© show proper st

HEC“M‘WCHQCH:j

HoC——C! T
N VT . ,__,.,«——:3;/
CH20H3 Eﬁ,&m - .
CHs
NBS k }
5 A
hv /\\E\L
.
O
He?t, B804 % /
— e “'“‘““’“<
H,O
d.
Br
H CH{CHs) CF :
H D acetone
CHa _ %3 M,ﬁ %f}l
A O CHy



3. Show the mechamsm (step by step with arrows) for the following reaction. (7 pta)

4. Show the mechanism (step by step with arrows) for the following reaction. (7 pts)
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11 NMR. spectrum is shown below.

5 Determine the structure of compound 41140 whose
Show your work. {7 pts) 7
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6. Determine the structure of compound CollioC2 whose 'H NMR spectriii is shown below.

Show your work. (7 pts)
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the TUPAC name of the foliowing molecule. (Egpts)
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Diraw two resonance

structures are major contributors. Use arrows to show

generated from the structures given. (0 pts each)
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structures for each of the molecules shown below.

Make sure your resonance
how each of your resonance structures can be
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9. Which of the two labelled H’s (a or b) is more acidic?
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16. Which of the foliowing two molecules (A
conformers o justify vour answer. (&6 pts)
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Tise resonance to justify your answer.
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or B) reacts faster in an B2 reaction? Draw chalr
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